EARAZROREIERT — 2 N—XBISY —F 2014528258 (&) 20@I%4A2H

mﬂﬁ%c 9#8 C9 ¥5%—MH (w8 | mEmml - |5 5) o 8
[AE4£] 1% :130,000 ™ ~ 2#%:26,000”  3#%&:13,000”  4%&:0MH / 5&:0M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
< NI TEARE= . —4-9- — EEER (554)
1177 IZY 4 RaALLL 4 5 5 1.(3_0).6 4-4-2-2 | 40.0 2 <3+862) ikl A
R:T7oBXT749 97748 B:T7)—2RA KiEH S
2 JPRTE 4 5 | WTHZ 1:30.6 1-1-1-1 [40.2| — 1 465 | /I\FRESBL (S£42)
EH 3| A3/ T b £54.0 (NF) i | ) K-z
L:214xN\hT B:Faohto77— KBz a1 75
. AR : —7-4- - KSR (5542)
slsls| 74 K72—5Fv— i 5 xz 1.(331).3 8-7-4-4 | 40.1 3 g) Eﬁsﬂ; A
LT A —FAFAF =YL BTAATLY ME EE
_ — en g KRiES] : -3-3- — IR (%HA)
4111 |TATTLINE— ad U 54.0 1(53/14)5 $3-39 1407 6 :ii INEE— :
LFIILANRTF— BFAILZHTTX T I LESRREES
oK 44 | WLBR 1:31.6 6-8-7-7 | 40.2| — 7 470 | BEREE (1)
spy2| TV —AE—F #53.0 (3/4) 4) W) 77— hEVas
LY IINIF— BNILEY B HET77— L
HBHEZ 1:31.7 7-6-4-6 | 40.7 | — 47 | IFREEBL (55HR)
6 4 A1IXJAL T4 8 gﬁ_oa (13/2) 646 0 ° +2) (g) S I*')lz/:*rﬁ‘/ K
LZFAT=IK B:ovq))— pail=:Eae]
— — BRIRA : 04— — BRIkt (£R)
7 6| IXTTF1vY it 4 A 1.(322>.1 2-2-4-5 | 41.5 4 12;7 %K%K
R:T7T1T7145—-71>97 BXRXE-T7114X o Bz
LS S 5 | Blaft 1:33.3 5-5-8-8 |42.1| — 9 432 | INERBSER (SEHR)
8lglg| 777 —NILT> " 56.0 ®) 1) &) S EALFLT2K
R:Z28—%29v> BTFAT7—ZAX5> [SE - FS
> helzskey :35. -9-9- . — BEEER (5H)
olglg|mTrirFarz 78 60 G | TR 8T A =
A :Redoute’s Choice F:aA—FIF v+ 1A LX (B) A1 -FRL—-va>aEI7
® I—F—@EBIERL
13—7F— 3,6,1,7,9,2,4,5,8
Ao=5"= 3,6,1,7,9,4,5,2,8
3T—7— 3,7,1,(4,5,6),2,9,8
43—+ — 3,7,1,5,6,4,2,9,8
[ RN
B 7 320M 794K 3-7 120M & 3-7 380 &R 3-5-7 330M
# B 7 1004 5-7 200 B E 3-7 340 EE 7-3-5 1,580
3 1004 3-5 140H B H 7-3 740M
5 110M

ABICOVWTRDTEEERROODE. TR LIV,



